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Explain the following with respect to corona (i) corona (i) effects of
corona (i1) disruptive critical voltage (iv) visual critical voltage (v) corona
power loss. Also explain the interference with neighbouring
communication circuits. (16)

Or ~

A three phase circuit line consists of 7/4.5 mm hard drawn copper
conductors. The arrangement of the conductors is shown in Figure.12.b.
The line is completely transposed. Calculate inductive reactance per
phase per km of the system. 3 (16)
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Figure. 12.b

A balanced three phase load of 30 MW is supplied at 132 kV, 50 Hz and
0.85 p.f. lagging by means of a transmission line. The series impedance of
a single conductor is (20+j52) Q and the total phase-neutral admittance
is 315 x 10-5Siemen. Using nominal T method, Determine (i) A, B, C and
D constants of the line (ii) sending end voltage (iii) regulation of the line.

(16)

Or
Explain the real and reactive power flow in lines. Also explain the
methods of voltage control. (16)

In a 3-unit insulator, the joint fo tower capacitance is 20% of the
capacitance of each unit. By how much should the capacitance of the
lowest unit be increased to get a string efficiency of 90%? The remaining
two units are left unchanged. (16)

Or

What are the various propertieé of insulators? Also briefly explain about
suspension type and pin type insulators. Draw the schematic diagram.
(16)
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